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13 Mmwn: (inadvertent) mixture of nyxnp

a

b

if: 2 mnan, neither of which had had nx¥np done, got mixed

i if they can be sufficiently identified as separate to separate n¥'np from each — valid; if not — invalid

if: a ymp got mixed into a nnan that had not yet been ynpa

i then: the mixture may not be burned

ii  however: if he did burn it, the one that was ynp1 counts for its owners; the un-separated one does not

if: a ymp got mixed into its own 0»W or the 01w of another nmn

i then: the mixture may not be burned

ii  however: if he did burn it, it counts for the owners (of the nnin, the ymp of which is the subject of the na1yn)

backdoor discussion re: 91972 of 19721 to NVINWY and vice-versa

a

~70717 77 n0INWY can nullify N
i therefore: if there were 2 pieces of noINW meat and 1 of n%721 — no nY21 NRMY
ii  however: if there were 2 pieces of n%2) meat and 1 of nvVINY — touching any of them renders NkMY pav
1 reasoning: a NVINY can never become n%>1), but a n%a1 loses its status as n%>11 (for NnkMY) when it rot
dissent (822211 77): anything that can become like the other isn’t Y01 to it (Y2 pn); if it cannot —Hv1 (as 10 RV PN)
i question: within whose approach are they disputing?
1 if: 111 - they hold that only 1Rt PY0an Pa PoY, but “off the nam” —5va n"an (= distinctions drawn are moot)
2 if: " "1 — he deems appearance to define n (per his ruling about 07) - these always 101 pn = 501 85
ii  answer: follows ®n "7’s ruling — NVINWY NY’2) are Y01 to each other
1 question: within whose approach is X»n "1 ruling?
2 if: 127 - they hold that Y01 001 pn
3 if: nm "1 - he holds that in any case (either direction) n”an is not Y01
iii answer: follows N1 *3- but he limits non-10°1 to that which has the potential to become like the other;
1 else: considered wn wwr and is Yva
the dispute: is whether we focus on the Yvan or the Yva (thing being nullified)
i w7017 focus on Y0an (= 2 NOINY is N"RWYAN to NY21 2 Hv3a) (=2 197, could be n”an with NVINY > not Yv1)
ii  a221 77 focus on Yva (=1 nOINWY is N"RYAN to NY721 > HV1) (2 NVINY, could be n”an with n%a1 >not Ho31)
test against 1% clause: once we take ymp from first segment, the rest becomes 07w, mixed into Y2v (un-ynp1 offering)
i if weinterpet like 1327 — should be Y02 - 27 nnin is invalid
ii  but: if we interpret like nT1 "1
1 it only works: if we follow 5v3; as the Y20 could become W (after N¥'np) = Wna pn > not Hoa
2 but if: we follow Y0an, the 01w could never become 519, should be n”"rwan - Hva
3 suggestion: perhaps our mwn stands against XTon "1’s position (per our explanation)?
4 rejection: reason for ruling in our mwn (even acc. to 1317) per 1", who equates D»1w to ymp (both have mvpn
mentioned in their case — nN1vpn of the ymp, and the prohibition against 11rw waT n¥np [v. 1] — even 07 w)
(a) justas: ymp isn’t Y0an another ymp, so too ymip isn’t 0»PWY Y0an — and ©»PY WHYVIN DR DYPY
test against 2" clause: a ymp which fell into a nmin that had not yet been ynp — if burnt, counts for n9ya
i and: the Yav isn’t Y0an the ymp
ii  must be: 13; 13121 would consider the ymp nullified (only 15 aren’t Yvan each other)
1  and: this is only valid according to ®1on ’3; the Yvan (9av) could become like the 5va = n”an and Yva 1K
2 however: according to Ryin “1 — the ymp could never become 520> should be n"Rwan - Hva
(a) defense: X113 (above)
test against 3" clause: if a ymp falls into 71w, if burnt, it is valid (same challenges)
i answer: per defense (X1 "1 above)
test against ruling about n5amnp nyw: permitted to season nN¥n
i assumption: even if 211 is seasoning; not van the nxn
ii  note: this is only valid according to ®X11n "7, since the 5va (n¥n) could become like the Yvan when it sours
1 answer: case is where a majority is n¥n (even if 503, the n¥n is 5van the spices_\
(a) proof: wording of ruling - it is n¥n, just called nYann nxn
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